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25. A builder has two identical bricks. he places them side by side in three

different ways, as shown. The surface areas of the three shapes obtained
are 72, 96 and 102. What is the surface area of the original brick?
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26. What is the smallest number of cells that need to be colored in a 5x5
square so that any 1x4 or 4x1 rectangle lying inside the square has at
least one cell colored?
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27. Mazen asks a zebra and a panther what day it is. The zebra always lies on
Monday, Tuesday and Wednesday. The panther always lies on Thursday,
Friday and Saturday. The zebra says” Yesterday was one of my lying
days”. The panther says” Yesterday was also one of my lying days”. What
day is it?
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28. Several points are marked on a line. Rashed then marked another point
between each two adjacent points on the line. He repeated this process
a further three times. There are now 225 points marked on the line. How
many points were marked on the line initially?

10 12 15 16 25
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29. Anisosceles triangle ABC, with AB = AC, is splitinto three smallerisosceles
triangles, as shown, so that AD=BD, CE=CD and EB=EC.
Note that the diagram is not drawn to scale. What is the size of angle £ZBAC?

24° 28° 30° 35° 36°
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30. There are 2022 kangaroos and some koalas living across seven parks. In
each park the number of kangaroos is equal to the total number of koalas

in all the other parks. How many koalas live in the seven parks in total?

337 576 674 2022







